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1. EFAH (20%)

(1)

(2)

€)

(4)

The minimum wage is an example of

a. anprice ceiling.

b. aminimum-wage policy.

c. awage subsidy.

d. aprice control that is not binding.
e. aprice floor.

Taxes

a.  distort incentives and this distortion causes markets to allocate resources
inefficiently.

b. distort incentives and this distortion results in an inequitable allocation of
resources.

c. do not distort incentives, but they do cause markets to allocate resources
inefficiently.

d.  do not distort incentives, but they do result in an inequitable allocation of
resources.

e. all of the above are incorrect.

Opponents of free trade often want the United States to prohibit the import of goods made in
overseas factories that pay wages below the U.S. minimum wage. Prohibiting such goods is
likely to
a. cause these factories to pay the U.S. minimum wage.
b. increase the rate of technological advance in poor countries so that they
can afford to pay higher wages.
c. increase poverty in poor countries and benefit U.S. firms which compete
with these imports.
d. harm U.S. firms which compete with these imports.

e. may prompt U.S. farmers to invoke the unfair-competition argument.

Natural monopolies are both

a. nonexcludable and rival in saving.
nonexcludable and rival in consumption.
excludable and rival in saving.

nonexcludable and nonrival in consumption.
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excludable and nonrival in consumption.
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(5) Because each oligopolist cares about its own profit rather than the collective profit of all the
oligopolists together,
a.  they are unable to maintain the same degree of monopoly power enjoyed

by a monopolist.

each firm's profit always ends up being zero.

society is worse off as a result.

Both a and ¢ are correct.
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Both b and ¢ are correct.

(6) The money supply would fall if

a.  households decide to hold relatively more currency and relatively fewer

deposits and banks decide to hold relatively fewer excess reserves and make more loans.

b.  households decide to hold relatively less currency and relatively more

deposits and banks decide to hold relatively more excess reserves and make fewer loans.

c.  households decide to hold relatively less currency and relatively more
deposits and banks decide to hold relatively less excess reserves and make more loans.

d.  households decide to hold relatively more currency and relatively fewer

deposits and banks decide to hold relatively more excess reserves and make fewer loans.

e.  households decide to hold relatively less currency and relatively more

deposits and banks decide to hold relatively more excess reserves and make more loans.

(7) If inflation is higher than expected,
a.  creditors receive a lower real interest rate than they had anticipated.
b. creditors pay a lower real interest rate than they had anticipated.
c.  debtors receive a higher real interest rate than they had anticipated.
d. = debtors pay a higher real interest rate than they had anticipated.

e.  debtors pay a lower real interest rate than they had anticipated.

(8) An appreciation of the Taiwan’s real exchange rate induces Taiwan’s consumers to buy
a.  fewer foreign goods and fewer domestic goods.

more domestic goods and fewer foreign goods.

fewer domestic goods and more foreign goods.

more domestic goods and more foreign goods.
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more foreign goods and more domestic goods.
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(9) Suppose that the economy is in the golden rule steady state in question. Now assume that there
is a positive supply shock and the economy will converge to the new golden rule steady state,
which properties in the following ate true:

a. the new golden rule steady state output per effective labor is higher than the old one.
the new golden rule saving rate is higher than the old one

b

c. output will jump up and then converge {o the new steady state

d. output will increase continuously and converge to the new steady state
e

investment will jump down and then converge to the new steady state

(10) In Trving Fisher’s two-period model, if the consumer is initially a saver and the interest rate and
first-period consumption increase, then we can conclude that:
a. the income effect was greater than the substitution effect.
the income effect was less than the substitution effect.

b

c. the income effect exactly offset the substitution effect.

d. the income effect and the substitution effect both increased first-period consumption.
e

only the substitution effect increased first-period consumption.
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